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Sweating causes cooling by-
(b) Radiation
(d) Evaporation

(a) Conduction
(c) Convection
The heat energy emitted by sun reaches the earth
through-

(a) Conduction (b) Convection

(c) Radiation (d) None of these

In thermal contact, quantity of heat lost by hotter body
is __the amount of heat gained by the colder body.

(b) Greater than

(d) Cannot say

(a) Equalto
(c) Lessthan

A body is moving with uniform velocity of 10 ms~L . The
velocity of the body after 10 s is-
1 1

1 1

(a) 100ms
A distance-

(b)50 ms (c)10ms — (d)5ms
(a) is always positive

(b) Is always negative

(c) May be positive as well as negative

(d) Is neither positive nor negative

The increase in the speed of a car is proportional to the
additional petrol put into the engine. Is it possible to
accelerate a car without putting more petrol or less
petrol into the engine?

(a) Yetitis possible, if we additional petrol

(b) Not possible, the statement is wrong

(c) May be possible if there is a leakage in the car

(d) itis possible if the car-moves in circular path.
Process by which chemical change takes place in a
substance when electric current passed through it
called-
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(a) =re™ (b) HasA
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(@) [ (b)3f®  (c) BH (O EEIN)

TP 9] 10 ms! & YHHAH 9 9 TRl ' 10 s

T A% HI A9 BT -

(@ 100ms? (b)50mst(c) 10ms? (d)5ms™

@ -

(2) T gATHAG BT

(b) AT FOTHE BIA B

(c) UFTH® IT FUMHSD & ABAT ©

(d) = 1 g9THS T & FOTHD BT ©

UH BR B AA H G THd Fod H Sl W

faRed Ugiad & AU 8| 991 I8 9wa § &

FR Bl, D SoiF H H AT HH USTA STt fa=

@Ra forar s s ?

(a) &, I8 w79 B, afe &v srfiRad Ugia Srot

(b) TG &, HUF T &

(c) w9 8 Ifg BR § dpo &

(d) 78 99 8 Ife SR g 9 R T R & B

qg8 UhH g1 e gRT e U H IRee

IRTAT B & o1 9 BId} dgd gRI ydIfed w,

B HEd T —

(a) Electrolysis (b) Electroplating (a) ﬁ?gﬂ JAUgcH (b) 3@@ e
(c) Electrodes (d) Thermionic conduction (c) SoAasTS (d) drufas IToid
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Magnitude of current flowing through a device depends
(a) Only on the voltage across it

(b) Only on its resistance

(c) Onitsresistance and the voltage across it

(d) None of these

To make a battery of 9 volts how many 1.5 V cells are
needed?

(@) 6 (b) 5 (c)4 (d) 3

Which of these are due to rectilinear propagation of
light?

(a) Rainbow (b) Inverted image

(c) Shadow (d) Reflection

Which one of the following is an insulator?
(b) Iron
(d) None of these

(a) Silver
(c) Both (a) & (b)

............... rain also corrodes metal, marble, statues and

monuments.

(a) Alkalies (b) Acid (c) Base (d)All
Which one of the following are basic substances ?
(a) Lemon Juice (b) Orange Juice
(c) Soap Solution (d) Vinegar

Which one of the following are mineral acids?

(a) Hcl (b) HNO3

(c) HySOy4 (d) All of these

Which one of the following fruits contains citric acid?
(a) Orange (b) Banana

(c) Apple (d) All of these

Which one of the following substance is formed when
vinegar and baking soda are mixed together ?
(a) Sodium acetate (b) Carbon dioxide
(c) Water (d) All of these
When air filled in a closed container ................ the wall
of the container -
(a) Exerts Pressure
(b) Does not Exerts Pressure
(c) Both (a) & (b)
(d) None of these
Bulb filament is made up of -
(d) Tungsten (b) Gold
(c) Nichrome (d) All of these
Which one of the following substance is formed when
vinegar and baking soda are mixed together?
(@) Sodium acetate (b) Carbon dioxide
(c) Water (d) All of these
When air filled in a closed container ................ the wall
of the container -
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(d)3
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(a) &N Yehellg

(c) &R
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(2) g &1 ¥ (b) IR &1 ¥|

(c) | faera= (d) R

1 § 9 I EfeeT 3 § °?

(@ HCl  (b) HNO, (c) H,SO, (d) @+

1 ¥ 9 PI %t | Rigld 3 BT 87

(@) AN (b)Ber () (d) Y

59 RR®GT 9 @M & A B e a@ @Ata fean
STTaT ® < 91 § | err uered g9 er 27

(a) WifsTa wice (b) BT S ATRATSS

(c) oI (d) SWRIE T

O9 Uh dq g H g W Sl § Al I8 U Bl
AR TR v, g -

(a) TTE oMl (b) TTE &I Ml

(©) (a)a(b) i (d) 378 A Big T

Ieq B dg fad a1 Bl ® —

(@) SEA  (b)Mes (@) (c)ATSshiA  (d)|H!
59 RR®B1 9 @@ & A B e a @At fean
STTaT ® 1 1 § | erear uered geer 27

(a) WifsTa gdice (b) w1 T NS
(c) ST (d) SURrad A

S9 UH §8 UF H 9 IR SRl g Al g8 U @l
AR W v S

(a) Exerts Pressure () <19 T (b) TT§ &I I
(b) Does not Exerts Pressure (c) (a)a(b) A (d) PIg T8I
(c) Both (a) & (b)
(d) None of these
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The number of stomach present in cow is -

(a) One (b) Two

(c) Three (d) Four

Sudesh fell down while playing a game and his knee got
injured. After sometime he noticed that bleeding had
stopped and a dark red clot has plugged the clot. The
clot is formed because of presence of which type of
blared cells in blood -

(a) R.B.C (b) Platelets

(c) W.B.C (d) Plasma

Which of the following plants do not reproduce by seeds
(a) Neem, Mango, Guava

(b) Groundnut, Mustard, Soyabean

(c) Wheat, Maize, Rice

(d) Sugarcane, Potato, Rose

If the surface of leaves is coated with vaseline, then
which of the following processes in plant will stop ?

(b) Transpiration

(d) Both (a) and (b)

It is not healthier to breath form mouth than to breath
from nose. It is because -

(a) Exchange of gases
(c) Respiration

(a) Lesser amount of air enters from mouth than from
nose

(b) Water is mixed in air in mouth

(c) Food particles remain stuck to teeth in mouth

(d) Airis not filtered in mouth

Indian diet mainly, comprises of chapattis or rice in large

proportion. Interestingly their digestion starts from

mouth. Where does it get completed?
(@) Insmallintestine (b) Inlarge intestine
(c) Instomach (d) Inrectum

Which type of soil will be best for making “matkas” and
“suraai” ?

(b) Sandy

(d) Silty

In a garden Amit saw a plant called ‘Amarbel’ climbing
on a tree. Amarbel is an example of -

(a) Autotroph (b) Parasite

(c) Saprophyte (d) Host

(a) Loamy
(c) Clayey

One day you saw a cow sitting near roadside and
chewing something although it has not eaten anything at
that time. Actually it was partially digested food which
was stored temporarily in its stomach and was again
retuned to mouth in small lumps and the cow was
chewing it. This process is called -
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(8) RB.C (b)=icecd (c) W.B.C (d) IS
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(a) T, 31TH, 3w

(b) HIThell, HRE], AT

(c) g, #ad1, A

(d) =1, Sreg, Terrd
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(a) T @1 e Y (b) dATEUIHSH

ORKELSE (d) (a) 7 (b) TAI
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Ug T8l 2| e —

(a) T DT 3T T A Y B HHF AT GIY B
(b) @ # arg ¥ ot fAfra & < @

(c) 9 ¥ STl & 4 WIS & BV B Sl ©

(d) 9@ ¥ 91y &1 B B

AR Ao H J0 ®U ¥, 99 AgUId H Furdl Al
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(a) Bl T H OESKIEE!
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(a) sMe  (b)Ifren (c)fTrmi(d)RIee

AT U SUH H TP URY WR IR Pl AR
BU <1 | 3R SeTER &

(a) wdrsy B (b)oRSET 1

(c) Fargsidr &1 (d)arsY 1

U 3T G MY B VS B UK GG Y BB d9d Y
<@d B Al S WHY 98 H9 el @ V@ © | dIKid
¥ U8 R ufad WIoH of S SHd R H
SRAT WU H FUSIA o TNl BIC Tt & w4 H G
H qIOT 37 Y& AT JAT MY 3 =a1 I8 ol I githa
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(a) Double chewing (b) Cellulisation (@) SIRT =drT (b) Aferepro
(c) Curdling (d) Rumination (c) Bsfer (d) et B
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A flower is the reproductive part of the plant. It forms
fruit after fertilization and fruit contains seeds in it, what
is true about fruit and seed -

(a) Afruitis ripened ovary

(b) Aseedisovule

(c) Both are true

(d) Both are false

(- 1)2010 +(- 1)2011 +(- 1)2012 =

(a) -1 (b) O
() 1 (d) -2
(a) 1/6 (b) 2/3
(c) 4/3 (d) 5/6

(x +y)2 = (x—y)2 is equal tO vevevereene.
2

(a) 2x2+2y (b) —4xy
(c) 4xy (d) 2x22y2
The simplest ratio of 240: 300 is ...........
(a) 80:60 (b) 24:30
(c) 8:10 (d) 4:5
The supplement of 70° is ..............

(@) 120° (b) 35°

(c) 110° (d) 55°

Which of the following statements is true ?

(a) The sum of positive numbers is positive

(b) The sum of negative numbers is positive

(c) The product of negative numbers is negative

(d) The product of a negative and a positive number is

positive
If2(3x—5)—4=3(x—2)+5,thenx=........
(a) 11/3 (b) 15/2
(c) 13/3 (d) 9/2
The median of the data 10, 10, 10, 10, 10and 10 is .....
(@) 10 (b) 20
(c) 60 (d) cannot be determined

The diagonals of a rhombus are 24 cm and 10 cm. Find
the side of the rhombus (in cm)

(a) 14 (b)13 (€ 15 (d) 17

The lateral surface area of a cube is 144 m2. Find the
length of the edge of the cube-

(b) 12 cm

(d) 4cm

(a) 8cm

(c) 6cm
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(d) ST Terd ®

(- 1)2010 4 (L 1)2011 4 (_1)2012=
@ -1 (b) 0

© 1 d) -2

@) 1/6 (b) 2/3

() 4/3 (d) 5/6
(X+Yy)2— (X—y)2 TR T oo,
@) e+ 2y2 (b) —4xy
(©) dxy @) 2x%2y?
240: 300 BT FXTH MU ©

(a) 80:60 (b) 24:30
(c) 8:10 (d) 4:5
70° BT FHYRE PBI0T B ..o

(a) 120° (b) 35°

(c) 110° (d) 55°

=1 9§ 9§ P e 9 77

(a) UTHG TR BT AT g-THD Bl B

(b) FOITHS FEIRN BN AR GHS BIdl ©

(c) OIS &S] BT UGl FHS BIdl §

(d) T® FUTHSG T Ud GTHEG Gl BT 00
g TcHD eIl &

I 2(3x=5)=4=3(x—=2)+5, TTX = wevvrn....

(a) 11/3 (b) 15/2

(c) 13/3 (d) 9/2

sffeei 10, 10, 10, 10, 10 T 10 &7 AIfETST ¥ ...

(a) 10 (b) 20

(c) 60 CEISIEERERIRS I

Uh wHAgYSl @ fddvl 24 cm el 10 cm ® @I
FAAGYS BT Gl (cm H) B —

(a) 14 (b) 13

(c) 15 (d) 17

TUh °9 P UG JOII &3hd 144 m2 B A °F @
ST B TS B

(a) 8cm (b) 12 cm

(c) 6cm (d) 4cm

AIPO-2015 FIRST ROUND (Intra School Round)

Page: 8/A-4



